		Final IFC	Participation V	Vorksheet FY1	.7		
	Term	Title	# of participants	Rehearsal time	time (inc. sound check)	Total hours of activity	Notes
93:	1						
Small Musical	Fall 2014	Company	15	140	16	2,340	Company Total : 2,590 Hrs.
		Company Build	5	20		100)
		Company Crew Pirates of	5	30		150	P of P Total Hrs =
Opera Scenes	Spring 2015		15	140	12	2,280	2,530 Hrs.
		Penzance Build	5	20		100)
Big Musical	Winter 2016	Pirates Crew Caberet	5	30		150	Cabaret Total =
932		Accomp/Pit	5	36	50	430	430 Hrs.
Choral Concerts	Winter 2016	Love and Devotion	40	64	3	2680	Sectionals not included
-	Fall 2015	Songs of the Spirit	40	64	3	2680	Sectionals not included
NECKLAR WALLE & C.	Spring 2015	Rutterfest! To See As	45	64	12	3420	Sec. not inc. Car. Hall perf
	Winter 2015	Children See Eng madrigal	35	64	3	2345	Sectionals not included Sectionals not
· · · · · · · · · · · · · · · · · · ·	Fall 2014	Feast	53	74	6	4240	included
933							
Hemisphere Orchestra	Winter 2016		20	40	4	880	Sectionals not included
	Fall 2015	Ellington: Far East Suite	22	40	4	968	Sectionals not included Sectionals not
	Spring 2015	Grab Bag	22	30	4	748	included 3 concerts in
	Spring 2015	Tour	25	10	12	550	Bay Area 3 eight hour
	Spring 2015	Recording	15	5	5	150	days Sectionals not
	Winter 2015	Radiohead	20	40	4		included Sectionals not
100 NO	Fall 2014	Allen Toussaint	24	43	6		included
Orquestra Brasil	Winter 2016		11	28	5	363	
		Mostly Samba	28	26	5		featured int'l
		w/Choro Das 3 Classis Choro & Samba	12	28	5	396	guest artist
		Pixinguinha & Jacob	12	28	5	396	

Guitar Ensemble	Winter 2016		8	18	2	160	
	Fall 2015		8	18	2	160	
	Spring 2015		8	18	2	160	
	Winter 2015		8	18	2	160	
	Fall 2014		8	18	_2	160	
Combo	Winter 2016	Art Lillard; Greenlief	12	8	6	168	
	Fall 2015	Art Lillard	12	6	0	72	
	Spring 2015	WHC	12	25	3	336	
N A	Winter 2015	WHC	12	25	3	336	
	Fall 2014	WHC	12	25	3	336	
934							
Western Hemisphere Voices	Winter 2016	Beatles	15	30	3	495	Sectionals not included
	Fall 2015	Electro-Swing	16	28	3	496	Sectionals not included
**************************************	Spring 2015	Best of WHV	17	30	3	561	Sectionals not included
	Spring 2015		10	10	12	220	Bay Area
	Winter 2015	Mel Torme & the Mel-Tones	16	28	3	496	Sectionals not included
	Fall 2014	Chicago	18	28	3	558	Sectionals not included
936							
Western Oregon Winds	Winter 2016	Boogie and Blues	35	40	5	1575	Sectionals incl- 10 hours
	Fall 2015	Tell Me a Story	35	40	3	1505	Sectionals incl- 10 hours
	Spring 2015	Student Conductors	35	40	3	1505	Sectionals incl- 10 hours
	Winter 2015		35	40	3	1505	Sectionals incl- 10 hours
	Fall 2014	Student Conductors	35	40	3		Sectionals incl- 10 hours
Western Oregon Symphony	Winter 2016	Opera to Broadway	30	40	3	1290	
		Time and Place	30	40	3	1290	
*		Concerto Winners	30	40	3	1290	
,	Winter 2015	Concert	30	40	3	1290	
	Fall 2014	Time and Place	30	40	3	1290	
Percussion Ensemble	Winter 2016		7	40	3	301	

	Fall 2015		7	4(0 3	30	1
	Spring 2015	5	7	4(0 3	30:	1
	Winter 2015	5	7	4(3	30	1
	Fall 2014		7	4(3	30:	1
Pep Band	Winter 2016	5	25	10	6	400	
	Fall 2015		25	55	5 22	1925	5
	Spring 2015	;	0	C	0	()
	Winter 2015		0	(0	(
	Fall 2014		25	10	22	800	
DrumLine	Winter 2016		0	C	0	c	Discontinued
	Fall 2015		14	30	40	980	
	Spring 2015		14	20	12	448	
	Winter 2015		14	2	6	112	
	Fall 2014		14	30	28	812	
937	7			120			
	Winter 2016		8	70		560	
100	Fall 2015	Fall Informal Dance Concert	32	26		832	
	Spring 2015		102	76		7752	
	Spring 2015	Spring Informal Dance Concert	34	12		408	
	Spring 2015		12	18		216	
	Spring 2015		8	70		560	
77 W. S.	Winter 2015	Retirement Center	32	18		576	
938							
	Winter 2016- -Studio	Studio Show: Lobby Hero	7	120	20	980	Lobby Hero Total = 1,070 Hrs.
		Lobby Hero Crew	3	30		90	
	Winter 2016- -Main Stage		18	140	50		Cabaret Total = 7,040 Hrs.
		Cabaret Build	21	196	50	3,920	,,040 1113.
		Cabaret Crew	10	60		600	***************************************
	Fall 2015	Book of Days	14	140	40		Book of Days Total = 6,029 Hrs.

	T	T				Т	
		Book of Days				2 000	
		Build	17	177		3,009)
		Book of Days					
		Crew	10	50		500	
		Frankie's Flight					FF of F Total =
	Spring 2015		11	140	30	1,870	5,430 Hrs.
		Frankie's Flight					
		of Fancy Build	20	163		3,260	
		Frankie's Crew	10	30		300	
	Winter 2015	-None of the					None of A. Total =
	-Studio	Above	6	120	20	840	930 Hrs.
		None of the					
		Above Crew	3	30		90	
	Winter 2015	-Pride and					P&P Total =
	-Main Stage	Prejudice	33	140	50	6,270	10,157 Hrs.
		Pride and					
200	100000000000000000000000000000000000000	Prejudice Build	19	173		3,287	
		Pride and					
		Prejudice Crew	10	60		600	
							D by D Total =
	Fall 2014	Death By Design	11	140	40	1,980	5,428 Hrs.
		Death By Design					
		Build	16	178		2,848	
		Death By Design				,	
		Crew	10	60		600	
18-07 1 10 19-19 100 II							
939							
	Summer	The Boys Next					BND Total = 3,800
	2014	Door	11	140	20	1,760	
	-	The Boys Next		110	20	1,,00	1113.
		Door Build	14	135		1,890	
		Boys Next Door		133		1,000	
_		Crew	5	30		150	
	Summer	CICW		30		150	As You Like It
	2015	As You Like It	22	140	20	3 520	Total = 5,575 Hrs.
	2013	As You Like It	22	140	20	3,320	10tal = 3,373 1113.
		Build	15	127		1,905	
		As You Like It	13	12/		1,903	
		Crew	_	30		150	
		Clew	5	30	-	130	
941			1		1		
Early Music		Ren & Bar of					Includes
Ensemble	Winter 2016		7	20			
LIBEITIDIE	MILITEL 2010	Germ. Bar. For	/	38	6	308	retreat
	E311 201 E		-	20		253	
	Fall 2015	Advent	7	30	6	252	To aliced a -
	Carina 2015	Musica		30	اء		Includes
	Spring 2015		8	38	6	352	retreat
	Winter 2015	Image of		30		364	
	Winter 2015		8	30	3	264	
	E-11 2014	Tafelmusik:		20		364	
	Fall 2014	Telemannn	8	30	3	264	
Camada	W: 2015		_	_			
Saxophone Quartet	Winter 2016		3	8	1	27	
	F-11 201 =		_	ار			
	Fall 2015		3	8	1	27	
					, .		
	Spring 2015		7	8	1	63	

	Winter 2015		7	, 8	1	63	
	Fall 2014		7	, 8	1	63	
Brass Quintet	Winter 2016		5	10	3	65	
	Fall 2015		5	10	4	70	
	Spring 2015		5	10	4	70	
	Winter 2015		5	9	1	50	
	Fall 2014		5	10	4	The second secon	
942			Student attendees at receptions	Students involved in installation etc.	Students exhibiting work on campus	Average number of students visiting exhibits during a show	
	Winter 2016	Time/Suddenly Entire	75	12	5	150	
	Fall 2015	Read/Faculty Biennial	75	12	5	150	
	Spring 2015		150	20	40	200	
	Winter 2015		75	12	5	150	
	Fall 2014	/Degrees of Abstraction	75	12	5	150	

Theatre Productions attendence comparisons--Students only

	2013-2014	2014-2015	2014-2015	2015-2016
	ALL STUDENTS	ALL STUDENT	WOU free tickets*	ALL STUDENT
Fall Play	249	496	411	298
Winter Play	551	674	490	Not yet available
Spring Play	279	378	320	Not yet available
Total	1079	1548	1221	Not yet available

^{*} Some WOU student did not receive free tickets because of fee payment issues. This is why the ALL STUDENTS number is greater than the number of free ticket Students attend from other colleges as well who paid for tickets

The winter play 2014 numbers include 100 students for surrounding High Schools

Rice Auditorium 2014-2015 Usage

		Campus						
		Faculty/		1	Student	wou	General	
		Staff	Senior	Comps	Non WOU	students	Pop.	Totals
		2.33.1.						
							-	
Summer 2014			-	-				
June/July 2014	SOAR				475		225	700
	SOAR			-	475		225	700
8/5/14	American Metropole Orchestra				90		23	113
9/17/14	President's Welcome Address	425						425
Smith Fine Arts Se	ries							
10/10/2014	SFA-Pacific Mambo Orchestra			33	5	60	235	333
12/6/2014	SFA - Allen Toussaint			25	23	107	395	550
1/9/2015	SFA-Rainbow Dance Theatre			50	43	72		
. A. 18.							308	473
1/16/2015	SFA-Turtle Island Quartet			29	16	66	305	416
4/3/2015	SFA-Dr. Lonnie Smith Trio			36	10	55	235	336
4/11/2015	SFA-Jose James			14	14	60	221	309
Summer Theatre								
					1923			
Fall Term 2014								
10/4/2014	No Belles (free performance by The Portal Theatre)	2		52				52
11/13-11/22, 2014	Death By Design (WOU Student tickets free)		106	62	85	/11	124	788
11,13 11,22,2014	Death by Design (WOO Student tickets free)	-	100	62	65	411	124	/88
C-11 2044 P	Land Control							
	k Music Concerts (567 seats each night)							
12/1/14	Orchestra Brasil					52	22	74
12/2/14	Western Hemisphere Voices					33	84	117
12/3/14	Western Oregon Symphony					37	33	70
12/4/14	Western OR Winds & Western OR Percussion Ensemble					35	41	76
Winter Term 201	4							
1/22/2014	Pep Talk (Theatre's guest artists)				26	102		128
	and the supplement the second					- 102		120
2/5-7/2015	Studio Show None of the Above		10	15	6	126	37	194
2/3 //2013	(47 seats; wou student tickets free)	1	10	13	0	120	3/	194
2/6-3/7, 2015	and accessed the second and accessed to a contract the second and the second access access and the second access and the second access access and the second access and the second access and the second access access access and the second access access access and the second access access access access access access access access and the second access a		476		101			
2/0-3/1, 2013	Pride and Prejudice (567 Seats: WOU Student - free	2	176	88	184	490	292	1232
	week Music Concerts (567 seats each night)							
3/11/2015	Western Symphony Orchestra					16	50	66
3/12/2015	Western OR Winds & Western OR Percussion Ensemble					32	63	95
3/13/2015	Western Hemisphere Orchestra					52	88	140
3/14/2015	WOU Hemisphere Voices					30	68	98
						- 30		- 30
Spring Term 2015		1						
consistence of a continuous conti								
4/10 & 4/11, 2015							700	700
4/3-4, 2015	WOU Band Festival Schools						1750	1750
4/17 & 4/19	One Acts- (47 seats each night)			14		79	26	119
5/10-5/12	Spring Dance Concert (567 seats) 3 nights		128	127	420		295	970
	and the state of t			/			233	3,0
5/28-6/31	Frankie's Flights of Fancy	 	30	54	58	320	53	515
3/20 0/31	Trankle 3 riights of Falley	1	30	34	36	320	23	212
Carina 2015 5 /	al Maria Communication	\vdash	\rightarrow					
	eek Music Concerts (567 seats each night)							
6/2/2015	WOU Hemisphere Voices					37	41	78
6/3/2015	WOU Symphony					25	36	61
6/4/2015	Western OR Winds & Western OR Percussion Ensemble					36	55	91
6/5/2015	Western Hemisphere Orchestra					32	55	87
6/6/2015	Orchestra Brasil					14	44	58
were consumerally STA	The state of the s					14		
6/12/2015	OHSU Nursing Program Convocation		-	-+				350
0/12/2013	OTISO MUISING FIOGRAMI COMVOCATION		-					350
			-+					

427

450

599

1,455

2,379

5,904

11,564

Total Usage

Rice Auditorium 2015-2016 usage

		Campus Faculty/S taff		Comps	Student Non WOU	WOU students	General Pop.	Totals
Summer 2015								
June/July 2015	SOAR				450		245	695
7/29-8/1, 2015	As You Like It					100000000000000000000000000000000000000		528
8/4/15	American Metropole Orchestra		14	80			17	111
9/17/14	President's Welcome Address	590						590
Smith Fine Arts Ser	ies							
10/2/2015	SFA-Groove For Thought			26	5	53	218	302
10/9/2015	SFA-3 Leg Torso			23	7	48	195	
1/8/2016	SFA-Body Vox			28	11	65	245	275
1/15/2016	SFA-10 Strings and a Goat Skin			23	15	44	335	377
4/8/2016	SFA-Sarah Gazarek							Not yet available
6/5/2016	SFA-Sean Jones							Not yet available
Fall Term 2015								
11/12-11/21, 2015	Book of Days (104 seats per night)		46	70	8	290	65	479
Fall 2015 Deadweel	k Music Concerts (567 seats per night)							
12/1/15	Western Hemisphere Voices ("Electro	Swing")				82	37	119
12/2/15	Western Oregon Symphony & Percussi	on Ensembl	e			41	49	90
12/3/15	Western Oregon Winds					60	32	92
12/5/15	Western Hemisphere Orchestra (The Music o	f Duke Ellingt	on)			68	96	164
Winter Term 201	6							
1/4/2016	6 Guitars by Chase Padget (Theatre's	guest artists	5)	7		66	38	104
2/4-7/2016	Studio Show: Lobby Hero (47 seats per	night)						Not yet available
2/25- 3/5, 2016	Cabaret (104 seats per night)							Not yet available
Winter 2016 Deady	week Music Concerts (567 seats each r	night)						
3/8/2016	Western Hemisphere Voices							Not yet available
3/9/2016	Western Oregon Symphony & Percussi	on Ensembl	e					Not yet available
3/10/2016	Western Oregon Winds							Not yet available
3/12/2016	Western Oregon Symphony							Not yet available
Spring Term 2016								
4/7, 2016	Drag Show (567 Seats)							Not yet available
3/31 - 4/1, 2016	WOU Band Festival Schools							Not yet available
4/14 & 4/16, 2016	One Act Festival (47 seats per night)							Not yet available
5/5-5/7	Spring Dance Concert (567 seats)							Not yet available
5/25-6/29	Cymbeline							Not yet available
and the same of th	eek Music Concerts (567 seats each nigh	t)						
5/31/2016	WOU Hemisphere Voices							Not yet available
6/1/2016	WOU Symphony							Not yet available
6/2/2016	Western OR Winds & Western OR Percussion	Ensemble						Not yet available
6/3/2016	Western Hemisphere Orchestra							Not yet available
3/4/2016	Orchestra Brasil							Not yet available
6/12/2015	OHSU Nursing Program Convocation							Not yet available
				1 4				
	Total Usage	590	60	250	496	817	1,572	4,172

2014-2015 Music Events in Smith Hall 61 concerts x 196 seats = 11,956

Fall 14 (Total/Students)

Andy Hackbarth 48/39

Student Junior Recital: Killip 110/68

Tom Bergeron & the WOU Faculty Brazilian Septet 59/35

Student Recital 52/30

Company

11-20-14 103/19

11-21-14 32/17

11-22-14 **54/37**

11-23-14 114/57

Chamber Ensembles 49/29

Western Hemisphere Combo & Guitar Ensemble 81/69

Early Music Ensemble 71/42

Total: 773/442

Winter 15

Alice Peacock 29/20

April Verch Band

2/5/15 100

2/6/15 147

Paul Roberts 52/27

The Lost Trio 17/17

Wicks-Parks Duo 32/10

Student Capstone Project: Sawyer 82/65

Trio ELF 36/24

Student Recital 47/35

Ned Roberts 36/22

Hal Galper Trio 15/13

Spectrum 35/18

Art Songs from the English Countryside 45/18

Chamber Ensembles 52/21

Western Hemisphere Combo and Guitar Ensemble 99/67

Early Music Ensemble 73/40

WOU Concert Choir and Chamber Singers 73/22

Total: 870/419

Spring 15

Blue Box 5/5

Opera Scenes

4-17-15 **67/33** 4-18-15 **88/20**

An Elegant Evening of Piano 53/23

Mike Nord 19/17

Student Senior Recital: Cram 67/40 Student Senior Recital: Means 55/22 Student Senior Recital: Ammons 51/20 Student Senior Recital: Wenger 54/25

Student Recital: Wilson 48/32

Student Senior Recital: Westfall 79/41 Student Senior Recital: Peterson 70/29 Student Senior Recital: Johnson 64/17

AMO Big Band 38/24

Student Senior Recital: Killip 75/44
Student Senior Recital: Eddings 59/19
Student Senior Recital: Starns 44/26
Student Senior Recital: Swatosh 45/17
Master's Recital: Kaltwasser 55/16
Solo Piano Recital: Shields 41/14

Honors Recital 57/24

Master's Recital: Zundel 60/38

Student Recital 38/18

Chamber Ensembles 54/24

Academic Excellence Day 36/17

Western Hemisphere Combo and Guitar Ensemble 88/76

Early Music Ensemble 76/32 Master's Recital: Watson 50/20 Master's Recital: Bernstein 51/19

Student Senior Recital: Richardson 53/21

Master's Recital: Mills 57/30

WOU Concert Choir and Chamber Singers 90/8

Master's Recital: Watson 48/23

Total: 1,835/834

Grand Total: 3,578

Total Students: 1,695

2015-2016 Music Events in Smith Hall concerts x 196 seats

EVENT	GENERAL	WOU STUDENT	TOTAL
FALL 2015			
Wei-Chen Lin	13	26	39
Violin & Friends	35	22	57
Dmitri Matheny	10	40	50
Spanish Song Treasures	13	35	48
Senior Recital: Harrington	22	23	45
Junior Recital: Fite	21	10	31
Junior Recital: Hazelwood	22	50	72
Student Recital	21	49	70
Chamber Ensembles	12	26	38
Senior Recital: Johnson			49
Orquestra Brasil	40	58	98
Guitar Ensemble	26	48	74
Concert Choir & Chamber Singers	58	58	116
Western Hemisphere Voices	50	66	116
Western Oregon Symphony/ Perc. ENS	48	46	94
Western Oregon Winds	54	49	103
Western Hemisphere Orchestra	115	57	172
WINTER 2016			
Tom Bergeron Brasil Band w/Art Lillard		Not ye	et available
Art Lillard and the Heavenly Band		Not ye	et available